
Protecting  Our 
Transportation Investment 

and recognizing the co-benefits 

!"#$#%&#'()*+(
,-%./'(01(23/.45(6#7"(8(!##"$(



Revenue or Spending
Problem?



I-5 bridge section falls north 
of Seattle 
  

SEATTLE – A large section of a bridge on Interstate 5 north of 
Seattle collapsed Thursday evening, sending vehicles and people 
plunging into the swirling, icy waters of the Skagit River. 



U.S. keeps building new 
highways while letting old ones 
crumble 
McClatchy Newspapers (Curtis Tate and Greg Gordon) 
Posted: 02/03/2013 9:54 AM 
In California, transportation officials estimate 
that 60 percent of the state’s roads and a 
quarter of its bridges need to be repaired or 
replaced, at a projected cost of $70 billion over 
a decade, some $52 billion more than the 
available funds. 
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Spending
Problem? 



Deteriorating 
Network Quality 
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Declining 
Purchasing 
Power  
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Exacerbating 
the Problem? 
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Exacerbating  
the Problem? 
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$165 = Avg. Amount Spent on Coffee (per capita) 

$320 = Avg. Amount Spent on Gas Tax (per capita) 

*$635 = Avg. Amount 
Spent on mid-range 
cell phone package 

Spending Priorities 



Traditional Planning Paradigm 
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Conventional 
Transportation 
Plan 
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New Planning Paradigm 
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Alignment Example 
for Local Agencies 
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ACCESSIBILITY… 
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New Performance Metrics 



38% 

10% 

10x 

Potential reduction in upfront 
infrastructure costs  

Potential reduction in police, 
ambulance, and fire service costs 

Potential increase in tax 
revenue generation 

Urban Form Effects 
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Cost 
Effectiveness 
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Network Investment 
Changes 
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Questions & 
Discussion 



Spending Decisions 
and Priorities 
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Do we need more O&M spending? 
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Trends



Trends
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Moving from single use to multiple use… 
(one travel choice to many travel choices) 



Market Changes  
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Solutions 
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Land Use Changes 
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